

# अखिल भारतीय आयुर्विज्ञान संस्थान, रायपुर (छत्तीसगढ) All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

Phone No. 0771-2572930, e-mail: ec.civil@aiimsraipur.edu.in

NIQ No: 42/EE/AIIMS/RPR/2019-20

# Date: 17-01-2020

### **NOTICE INVITING QUOTATION**

Sealed percentage rate quotation is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from the Civil eligible Contractors of CPWD, MES, BSNL, Chhattisgarh State PWD or any specialized firms having relevant documents and bid should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to 11:00 AM on date: 21-01-2020. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at 11:30 AM. As per detailed below:

Sl	NAME OF WORK	EST. COST in	TIME	
No		Rs.		
1	Development of garden and Supply Cement Concrete pots with plant at Hostel's in AIIMS Raipur.		30 Days	

#### SCHEDULE OF QUANTITY

Sl No	Description of items	Quantity	Unit	Rate	Amount	
1	AS PER ATTACHED SHEET					

#### **Terms & Conditions:**

- 1. The percentage rates are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- 2. Security Deposit @2.5% of quoted value will be deducted & will be released after 06(Six) months of successfully completion of work.
- 3. Specifications to be followed for execution of work as per CPWD Specifications-2019 and direction of the Engineer-In Charge.
- 4. The first and final bill payment will be done after completion of work as per specification.
- 5. Labour Law to be obeyed by the Agency.
- 6. Certificate of Registration for GST, Contractors' registration should be attached with Quotation and duly seal & sign on each document.
- 7. **Time allowed for the completion of the work is 30days**. It will be reckoned from the day award of the work.
- 8. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.
- 9. The Contractor shall remove from site all rubbish and debris generated by the Works and keep Works clean and tidy.

- 10. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 11. Bidders are suggested to visit the site with Junior Engineer(C), Er. Amarnath Chandra before participating in the quotation.
- 12. The work will be done in a running hospital, hence the work to be done as per the rules and instructions of Engineer-In-Charge. All the conditions of work at site are applicable to the successful bidder.
- 13. Method of application:
- a) If the bidder is an individual, the application shall be signed by him above his full type written name and current address.
- b) If the bidder is a proprietary firm, the application shall be signed by the proprietor above his full type written name and the full name of his firm with its current address.
- c) If the bidder is a firm in partnership, the application shall be signed by all the partners of the firm above their full type written names and current addresses, or, alternatively, by a partner holding power of attorney for the firm. In the later case a certified copy of the power of attorney should accompany the application. In both cases a certified copy of the partnership deed and current address of all the partners of the firm should accompany the application.
- d) If the bidder is a limited company or a corporation, the application shall be signed by a duly authorized person holding power of attorney for signing the application accompanied by a copy of the power of attorney. The bidder should also furnish a copy of the Memorandum of Articles of Association duly attested by a Public Notary.

Executive Engineer (C) AIIMS Raipur (C.G.)

## Copy to:

- 1. The Director, AIIMS Raipur-
- 2. The Deputy Director (Admin), AIIMS Raipur -
- 3. The Financial Adviser, AIIMS Raipur-
- 4. The Accounts Officer-I, Project Cell, AIIMS Raipur-
- for kind information please for kind information please for kind information please for information.
- 5. The Junior Engineer (C)-Er. Amarnath Chandra, AIIMS Raipur. Preparation of Market Rate Justification, Rate analysis and measurement sheet before opening of NIQ.

## Schedule of quantity

Name of work - Development of garden and Supply Cement Concrete pots with plant at Hostel 's in AIIMS Raipur.

I.No.	Particulars	Quantity	Unit	Rate	Amount
UB HEAD	: 1.0 HORTICULTURE AND LANDSCAPING				
1.1	Supplying and stacking of good earth at site including royalty and carriage upto 5 km lead complete (earth measured in stacks will be reduced by 20% for payment).	60.00	Cum	469.50	28170.00
1.2	Supplying and stacking at site dump manure from approved source, including carriage upto 5 km lead complete (manure measured in stacks will be reduced by 8% for payment):				
1.2.1	Screened through sieve of I.S. designation 20 mm	10.00	Cum	229.95	2299.50
1.3	Spreading of sludge, dump manure and/or good earth in required thickness as per direction of officer-in-charge (cost of sludge, dump manure and/ or good earth to be paid separately).	70.00	Cum	46.15	3230.50
1.4	Supply of Cement Concrete pots of specified size shape, including required color of painting and stacking in required rows & height, all complete as per direction of Engineer -incharge.			-	
1.4.1	Pot Dia 450-500mm	150.00	Each	472	70800.00
1.5	Filling of the following size empty pots with mixture of good earth & manure and placing them on approprite place i/c cost of of earth, manure as per direction of Engineer -incharge.				
1.5.1	Pot Dia 400-500mm	150.00	Each	53 10	7965.00
1.6	Providing & laying Selection no. 1 grass turf with earth 50mm to 60mm thickness of existing ground prepared with proper level and ramming with required tools wooden and than rolling the surface with light roller make the surface smoothen and light watering the same maintenance for 30 days or more till the grass establish properly, as per direction of officer in charge	400.00	sqm	84.35	33740.00
1.7	Plantation of Trees, Shrubs, and Hedge at site i/c watering and removal of unserveiceable material's as per direction of officer in charge (excluding cast of plant & water)				
.7.1	Shrubs Plant	4.00	Each	3.20	12.80
7.2	Hedge Plant /Ground cover	600.00	Each	2.15	1290.00
JB HEAD	: 2.0 FOLIAGE AND SHADE LOVING PLANTS				
2.1	Providing and displaying of Aglaonema Ice ht.25 cm having 10 to 12 fresh, healthy and attractive colorful leaves, well developed in 25 cm size Earthen pot/Plastic pot & as per direction of the officer-in-charge.	50.00	Each	184.50	9225.00
2.2	Providing and displaying of Areca Palm having ht. 1.20 m to 1.50 m with 5 to 6 suckers, well developed, fresh and healthy with lush green foliage in 25 cm size of Earthen pot/Plastic pot & as per direction of the officer-in-charge.	50.00	Each	169.15	8457.50
2.3	Providing and displaying of Croton Golden specimen having ht. 90 cm to 1.05 cm with 5 to 6 branches, well developed, fresh and healthy foliage in 30 cm size of Earthen pot/Plastic pot as per direction of the officer-in-charge.	50.00	Each	172.20	8610.00

UB HEAD	: 3.0 ORNAMENTAL PLANTS				
3.1	Providing and Displaying Cycus revoluta specimen plant, having 45 to 50 fresh and healthy, leaves having 30cm to 35cm circumfrance of base stem well developed in 40 cm challi, as per direction of the officer-in-charge.	4.00	Each	1537.50	6150.00
UB HEAD	: 4.0 GROUND COVERS PLANTS				
4.1	Providing and stacking of Duranta Golden, having ht.15 to 20 cm bushty shape with fresh and healthy leaves in 15 cm size of Earthen Pot/Plastic Pot & as per direction of the officer-incharge	600.00	Each	21.55	12930.00
				Total	192880.30
				Say	192880.00
Percentage Rate Quoted by the Agency		In Figure			
		In Words			
Name of Agency:					
Address Details:					
Contact no:	TO THE WENT OF THE PARTY OF THE				
Valid email id:	41.11.41.33.41.4	11 46.1			